
Soluzioni

1) D = R2 , fx (x , y)= 4x + 2xeX
+y

S fy(x ,y)= &*+ y - 1
sostituisco a

**
= 1

cerco isti critici e

E 4x + 2xex
+y
= 0 1Ux1

=

0,(X+ y - 1 = 0
E

y = 0

10.0) è l'unico pto critico

fxx(x ,y)= 4 + 2x
+ y
+ 2x - 2xex +y

Hf(0 ,0=
4 + 2

f"xy(x , y) = 2xeX
+ y (

%) =(2)
O I

f"xy(x ,y) = ex+ y
Autovalori positivi e 10

,
0) punto di
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X(5 -x3) =01X
= 0 + y =0

↳ I · Y
x = + 55 + y=

-
V

y =- I

X= -V5y =+
10 , 0) + D (E

,
-EtD e (r5, E ED

i pti critici sono (5, -5) (-E
, E

Ex (x ,y) =2x=
fxy(X , y) = 1 Hf(55, -E) =Hf(-55,)=

2f"yy(x ,y) = 2 determinante negativo
I " (

-> autadari t

=> (55, -85/2) e (-F, ) phidi
Selet

-




